Proposal Form RFP 029-2015

Furniture for New Elementary School

	Section 1: Classroom Furniture		Hertz Furniture			l	ndeco S	Sales	J.R. Inc.			
Item No.	Description	Est. Qty	Unit Price	Unit Installa tion Price	Total Extension Price with Installation	Unit Price	Unit Installa tion Price	Total Extension Price with Installation	Unit Price	Unit Installa tion Price	Total Extension Price with Installation	
1	Teacher Desk Description: 30x48 Frame with lock; Center Drawer Single Pedestal 30" Chassis Reference: HON 88251 or Equal Color: Mahogany/Shadow	57	\$386.69	\$51.22	\$24,960.87	\$320.00	\$0.00	\$18,240.00	\$327.36	\$0.00	\$18,659.52	
2	Teacher's chair Five Star Pedestal Base Grade III Up Description: Pneumatic Seat Height Adjustment; Reference: HON 5901 or Equal Color: Grade III Blue or other (Color to be defined)	59	\$100.06	\$13.26	\$6,685.88	\$82.00	\$0.00	\$4,838.00	\$84.04	\$0.00	\$4,958.36	
3	File Cabinet - Letter Description: Letter Reference: Hon 314P Series or Equal Color: Shadow	53	\$223.87	\$29.65	\$13,436.56	\$155.00	\$0.00	\$8,215.00	\$157.07	\$0.00	\$8,324.71	
4	File Cabinet - Legal Vertical 4- drawer File Cabinet - Legal Reference: Hon 314CP Series or Equal Color: Shadow	3	\$259.91	\$35.10	\$885.03	\$177.00	\$0.00	\$531.00	\$180.48	\$0.00	\$541.44	
5	Storage Cabinet Description: Two Door Lockable Storage Cabinet 36"W x 24 1/2"D x 71 3/4"H Reference: Hon SC2472 or Equal Color: Shadow	2	\$393.47	\$23.40	\$833.74	\$274.00	\$0.00	\$548.00	\$279.12	\$0.00	\$558.24	
6	Book Case Description: 36'W-X13"D-X57"H Wood Book Case Reference: HON 105534 Color: Mahogany	55	\$183.75	\$29.25	\$11,715.00	\$212.50	\$0.00	\$11,687.50	\$222.79	\$0.00	\$12,253.45	
7	Computer Table Computer Desk 72"Wx30DX- 32"Height (adjustable) Flip top wire management with a fully welded frame. Standard 3mm	47	\$213.99	\$23.40	\$11,157.33	\$314.00	\$0.00	\$14,758.00	\$273.34	\$0.00	\$12,846.98	
8	Reference: FTT3072 Color: Gray Nebula / black Rectangular Table (Pre-K/Kinder) Description: 30"x60" Reference: Virco 483060L0	56	\$96.72	\$11.70	\$6,071.52	\$109.00	\$0.00	\$6,104.00	\$97.53	\$0.00	\$5,461.68	
9	Color: Fusion Maple Navy Banding Rectangular Table Description: 30"x60" Reference: Virco 483060 Color: Gray Nebula / black	96	\$96.72	\$11.70	\$10,408.32	\$109.00	\$0.00	\$10,464.00	\$95.04	\$0.00	\$9,123.84	
10	Kidney Table Description: 48"x72" Reference: Virco 48KID72LO Color: Fusion Maple Navy Banding	8	\$141.37	\$11.70	\$1,224.56	\$173.00	\$0.00	\$1,384.00	\$179.58	\$0.00	\$1,436.64	
11	Kidney Table Description: 48"x72" Reference: Virco 48KID72 Color: Gray Nebula / black	42	\$141.37	\$11.70	\$6,428.94	\$173.00	\$0.00	\$7,266.00	\$177.12	\$0.00	\$7,439.04	
12	Student Chairs (Option 2) Description: Soft Plastic Stackable 18" Reference: Virco Metaphor Series Virco N918 or Color: Navy Blue or Charcoal Gray	328	\$30.79	\$2.34	\$10,866.64	\$33.00	\$0.00	\$10,824.00	\$46.79	\$0.00	\$15,347.12	

Proposal Form RFP 029-2015

Furniture for New Elementary School

	Sectio		He	rtz Furn	iture	lı	ndeco s	Sales		J.R. Ir	nc.	
Item No.		Description	Est. Qty	Unit Price	Unit Installa tion Price	Total Extension Price with Installation	Unit Price	Unit Installa tion Price	Total Extension Price with Installation	Unit Price	Unit Installa tion Price	Total Extension Price with Installation
	Student Chairs	(Option 2)										
	Description:	Soft Plastic Stackable 16"	040	400.00	40.04	400	424.00	40.00	400 400 00	444.00	40.00	400 407 40
13	Reference:	Virco Metaphor Series N916 or Equal	918	\$30.08	\$2.34	\$29,761.56	\$31.00	\$0.00	\$28,458.00	\$41.86	\$0.00	\$38,427.48
		Navy Blue or Charcoal Gray										
	Student Chairs											
		Soft Plastic Stackable 14"										
14		Virco Metaphor Series N914 or Equal	240	\$26.81	\$2.34	\$6,996.00	\$28.00	\$0.00	\$6,720.00	\$36.93	\$0.00	\$8,863.20
		·										
		Navy Blue or Charcoal Gray										
	Student Comfo	rt Stack Stool (5th Graders)										
	Description:	Soft Plastic Stackable 25" height with										
15	Description.	built in foot rest	150	\$135.02	\$5.85	\$21,130.50	\$143.00	\$0.00	\$21,450.00	\$135.52	\$0.00	\$20,328.00
15		Balt 34756 or equal Provide picture	130	9133.02	\$3.03	721,130.30	Ş143.00	Ş0.00	721,430.00	7133.32	Ş0.00	720,320.00
		with specifications										
		Charcoal Gray										
	Student Desk (Open Front)										
		18" x 24" Adjustable height open										
16		Virco 785MBB or equal	560	\$48.63	\$9.36	\$32,474.40	\$52.00	\$0.00	\$29,120.00	\$51.72	\$0.00	\$28,963.20
		Gray Nebula / black										
	Student Desk	dray result / Stack										
		10" . 24" Adicatable beight agen										
47	Description:	18" x 24" Adjustable height open Virco 785MBB with White Board	205	ć=2.44	ć0.26	ć42 00C 2E	ć72.00	¢0.00	644.750.00	ĆE4 72	¢0.00	ć40 c00 c0
17	D . f		205	\$53.11	\$9.36	\$12,806.35	\$72.00	\$0.00	\$14,760.00	\$51.72	\$0.00	\$10,602.60
		Write on Surface or equal										
		With White Dry Erase Write on Top										
	Student Desk -	Handicap										
	Description:	Brace in each leg 20"D x 34W" Top										
18	Description.	Adjustable height 25-35"H	10	\$90.58	\$9.36	\$999.40	\$138.00	\$0.00	\$1,380.00	\$104.70	\$0.00	\$1,047.00
	Reference:	Virco 723WM or Equal										
	Color:	Gray Nebula / black										
	Sit/Stand Stud	ent Desk										
	,	Top Size 20' x 26" with Book Storage										
		Adjustable height 26"- 43"										
	Description:	Adjustable height foot ring with 4										
19		gliders and 2 casters	150	\$225.60	\$17.55	\$36,472.50	\$226.00	\$0.00	\$33,900.00	\$223.73	\$0.00	\$33,559.50
		Balt 90532 or equal Provide picture										
	Reference:	and specifications										
	Calan	·										
		Gray Nebula / black								<u> </u>		
	Computer Desi											
		ADA Adjustable Electric										
20	Description:	36" x 30" x 27"-40"	10	No Bid	No Bid	No Bid	\$827.00	\$0.00	\$8,270.00	\$211.12	\$0.00	\$2,111.20
		with Cord Management System -Flip		510	5 510	510	,	÷ 3.30	, -, -, -, o.oo	,	, 5.50	, _,
		Spectrum Industries 38790 pr equal										
	Color:	Gray Nebula / black										
	Study Carrel											
	Docariation	24" x 36" Work Surface with privacy										
21	Description:	panels and shelve Adjustable Height	4	\$206.40	\$23.40	\$919.20	\$265.00	\$0.00	\$1,060.00	\$255.18	\$0.00	\$1,020.72
	Reference:	Virco 872436SC or equal										
	Color:	Gray Nebula / black										
	Rectangular Ac	tivity Table										
		36"D x 72:W x 14 1/2" - 29"H	_	A4==	44. =-	A = -		46.1-	40.00	A4	40.1	A
22		Hon ESR3672L or Equal	3	\$129.22	\$11.70	\$422.76	\$123.00	\$0.00	\$369.00	\$178.08	\$0.00	\$534.24
l		Gray Nebula / black										
	Cubbies											
l		Wood cubbies 36" x 24" with 6										
23	Description:	openings each opening is 12x12	56	\$16E 40	\$11.70	\$9,922.64	\$235.00	\$0.00	\$13,160.00	\$284.91	\$0.00	\$15 054 06
23	Poforonco	Provide picture and specifications	30	\$165.49	\$11.70	33,322.04	00.00∠د	0.00	J13,100.00	04.51مړ	JU.UU	\$15,954.96
		Natural wood										
	Color:	ivaturdi WUUU										

	Section 2: Administration Furniture		Commercial Concepts and Furnishings J.R. Inc. Nelson Adams South Texas School Furniture Total Total Total Total Total Total Total Total Total		ce Leader							
Item No.	Description	Est. Qty	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price
1	Executive Desk 72"Wx36"Dx29 1/2"H Description: Center Drawer with Lock; Double Pedestal Reference: HON 94271 or Equal Color: Mahogany	1	\$986.98	\$986.98	\$765.36	\$765.36	No Bid	No Bid	\$1,146.00	\$1,146.00	No Bid	No Bid
2	Executive Desk 66"Wx30"Hx29 1/2"H Description: Center Drawer with Lock; Double Pedestal Reference: HON 94276 or Equal Color: Mahogany	4	\$966.46	\$3,865.84	\$745.31	\$2,981.24	No Bid	No Bid	\$1,117.00	\$4,468.00	No Bid	No Bid
3	Executive Desk 60"Wx30"Hx29 1/2"H Description: Center Drawer with Lock; Double Pedestal Reference: HON 94251 or Equal Color: Mahogany	2	\$942.52	\$1,885.04	\$722.20	\$1,444.40	No Bid	No Bid	\$1,082.00	\$2,164.00	No Bid	No Bid
4	Bookcase for Administration Description: 5 Fixed Shelves, Mahogany 36"Wx13"Dx71H Reference: HON 105535 or Equal Color: Mahogany	55	\$374.88	\$20,618.40	\$264.47	\$14,545.85	No Bid	No Bid	\$402.00	\$22,110.00	\$145.00	\$11,550.00
5A	Left/Right Pedestal Desk with RightLeft Return Description: 30"x66" Mahogany/48"Wx24"D Return with Center Drawer, Lock Reference: HON 94284L/94215R or Equal Color: Mahogany	2	\$1,387.94	\$2,775.88	\$1,057.91	\$2,115.82	No Bid	No Bid	\$1,585.00	\$3,170.00	No Bid	No Bid
5B	Left/Right Pedestal Desk with RightLeft Return Description: 30"x66" Mahogany/48"Wx24"D Return with Center Drawer, Lock HON 94283R/94216L or Equal Color: Mahogany	2	\$1,387.94	\$2,775.88	\$1,057.90	\$2,115.80	No Bid	No Bid	\$1,585.00	\$3,170.00	No Bid	No Bid
6A	Left/Right Pedestal Desk with RightLeft Return Description: 30"x66" Mahogany/48"Wx24"D Return with Center Drawer, Lock Reference: HON 10583R/10516L/1522 or Equal Color: Mahogany	2	\$932.94	\$1,865.88	\$669.49	\$1,338.98	No Bid	No Bid	\$1,031.00	\$2,062.00	No Bid	No Bid
6B	Left/Right Pedestal Desk with RightLeft Return Description: 30"x66" Mahogany/48"Wx24"D Return with Center Drawer, Lock HON 10584L/10515R/1522 or Equal	2	\$932.94	\$1,865.88	\$669.49	\$1,338.98	No Bid	No Bid	\$1,031.00	\$2,062.00	No Bid	No Bid
7	Color: Mahogany Executive High Back Chair Description: Pneumatic, Swivel, Tilt, Tilt Tension, Tilt Lock, Arms; Grade III Uphostery, with Casters Reference: HON 2091 or Equal Color: Blue	1	\$249.50	\$249.50	\$194.00	\$194.00	No Bid	No Bid	\$291.00	\$291.00	No Bid	No Bid
8	Managerial Mid Back Chair Pneumatic, Swivel, Tilt, Tilt Tension, Tilt Lock, Arms; Grade III Uphostery, with Casters Reference: HON 2092 or Equal Color: Blue	15	\$239.38	\$3,590.70	\$184.90	\$2,773.50	No Bid	No Bid	\$278.00	\$4,170.00	\$150.00	\$2,625.00
9	Secretarial Chairs Description: 5 Star Pedestal Base Grade III Uphostery Reference: HON 7701 or Equal Color: Blue	4	\$149.58	\$598.32	\$123.91	\$495.64	No Bid	No Bid	\$189.00	\$756.00	\$74.00	\$396.00
10	Guest Chairs Description: Grade III Sled Base Reference: HON 2093 or Equal Color: Blue	14	\$184.66	\$2,585.24	\$150.41	\$2,105.74	No Bid	No Bid	\$226.00	\$3,164.00	\$130.00	\$2,170.00
11	Lateral File Description: 2 Drawers 37 1/2x20 1/2x29 1/2 Reference: HON 94223 or Equal Color: Mahogany	1	\$593.34	\$593.34	\$440.66	\$440.66	No Bid	No Bid	\$661.00	\$661.00	No Bid	No Bid
12	Folding Chairs Description: Metal folding chairs Reference: Hon FC01 or equal Color: shadow	600	\$19.77	\$11,862.00	\$22.53	\$13,518.00	No Bid	No Bid	\$21.00	\$12,600.00	\$14.45	\$8,670.00
13	Chair Truck Description: Double Tier chair truck; hold 50+ folding chairs Reference: Virco CT10 or equal Color: Taupe/Shadow	14	\$347.98	\$4,871.72	\$406.53	\$5,691.42	No Bid	No Bid	\$277.00	\$3,878.00	\$180.00	\$2,520.00

	Section 2: Administration Furniture			ial Concepts rnishings	J.R	. Inc.		n Adams ACO	South Texas School Furniture		The Office Leader	
14A	Conference Table Rectangular 42"Wx144"L42"Wx120"L Matching Edge; HON 80614/81227; HON 80613/81226 or Equal Conference Table 120"L Color: Mahogany	1	No Bid	No Bid	\$537.29	\$537.29	No Bid	No Bid	\$810.00	\$810.00	No Bid	No Bid
14B	Conference Table Rectangular 42"Wx144"L42"Wx120"L Matching Edge; HON 80614/81227; HON 80613/81226 or Equal Reference: Conference Table 144"L Color: Mahogany	1	No Bid	No Bid	\$578.97	\$578.97	No Bid	No Bid	\$875.00	\$875.00	No Bid	No Bid
15	Round Tables Folding with Caster, 3/4" Thick Table Top; Description: Locking Mechanism to Secure Top, 48" Round, Oak Reference: Virco MT48R or Equal Color: Grey Nebula	6	\$677.71	\$4,066.26	\$475.04	\$2,850.24	\$522.00	\$3,132.00	\$733.00	\$4,398.00	No Bid	No Bid
16	Round Tables Description: 48" Round, Mahogany with Adjustable Height Reference: HON ESD48L or Equal Color: Mahogany	4	\$210.45	\$841.80	\$159.83	\$639.32	No Bid	No Bid	\$152.00	\$608.00	No Bid	No Bid
17	Stacking Chairs Description: 2" Foam Seat, 7/8" Tubular Steel Frame, H Brace Welded to Rear Legs Vinyl Upholstery Reference: Virco 8925 or Equal Color: To be determined later	44	\$74.31	\$3,269.64	\$46.31	\$2,037.64	No Bid	No Bid	\$25.00	\$1,100.00	\$26.00	\$1,144.00
18	Credenza Description: With Knee Space Reference: HON 94243 or Equal Color: Mahogany	1	\$845.72	\$845.72	\$638.06	\$638.06	No Bid	No Bid	\$956.00	\$956.00	No Bid	No Bid

	Section 3: Cafeteria Furniture		Brodart	Company	Commercial Co	ncepts & Furnishings	Hert	z Furniture	Ind	eco Sales
Item No.	Description	Est. Qty	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price
	cription: Bench Type, Foldable, Bullnose Edge; 8 Benches Ference: KI #UF12/SB/BN/CH or Equal Color: Grey Nebula (subject to change)	17	\$1,350.40	\$25,456.82	\$1,743.71	\$32,143.09	DNMS	DNMS	DNMS	DNMS
2	cription: Edge; 6 Benches rerence: KI #WAUF12/BE/BN/CH or Equal Color: Grey Nebula (subject to change)		\$1,160.20	\$1,960.20	No Bid	No Bid	DNMS	DNMS	DNMS	DNMS

	Section 3: Cafeteria Furniture		J.R	. Inc.	Nelson	Adams NACO	School Specialty		
Item No.	Description	Est. Qty	Unit Price	Total Extension Price	Unit Price	Total Extension Price	Unit Price	Total Extension Price	
	Cafeteria Table								
	cription: Edge; 8 Benches								
1	ference: KI #UF12/SB/BN/CH or Equal	17	\$1,234.92	\$20,993.64	DNMS	DNMS	\$1,451.20	\$24,670.40	
	Color: Grey Nebula (subject to change)								
	Cafeteria Table - ADA								
	cription: Bench Type, Foldable, Bullnose								
2	ference: KI #WAUF12/BE/BN/CH or Equal	1	\$1,090.48	\$1,090.48	DNMS	DNMS	\$1,524.88	\$1,524.88	
	Color: Grey Nebula (subject to change)								

DNMS: Do not meet specifications

Sect	ion 4: Nur	se's Furniture		J.R	. Inc	*School Health		
Item No.		Description	Est. Qty	Unit Price	Total Extension Price with Installation	Unit Price	Total Extension Price with Installation	
	First Aid Cou	ch						
1	LIMCCRIMTIAN	Wooden Leg Couch 2" Foam Padding; Built-In or Adjustable Headrest. Natural Wood Base	2	\$758.95	\$1,517.90	\$395.35	\$790.70	
	Reference:	Clinton Industries 924602BG						
	Color:	Slate Blue						

^{*}No installation Included

Proposal Form RFP 029-2015

Furniture for New Elementary School

Sect	ion 5. Fine	Arts Equipment and Furniture		Stage Righ	nt Corporation	Wenger C	orporation
Item No.		Description	Est. Qty	Unit Price	Total Extension Price with Installation	Unit Price	Total Extension Price with Installation
	Choir Risers						
1	Description:	3 Step Risers with Black Rail	3	\$1,050.00	\$3,300.00	\$1,400.00	\$4,530.00
		Wenger signature choral or Equal					
	Color:	Black					
	Instrument C	abinet					
2	Description:	Instrument Cabinet Small; Includes Removable Bin for Storage, Multiple Shelves and Compartment		1	No Bid	\$1,700.00	\$1,835.00
	Reference:	eference: Wenger 166E001 or Equal Color: Black					
	Color:						
	Stereo Cabino	et					
3	Description:	Portable Self Contained Unit with		١	No Bid	\$1,122.00	\$1,237.00
	Reference:	Wenger 165G001 or Equal					
	Color:	Black					
	Music Lab W	orkstation					
4	Description:	Speakers with Power Strip and Casters	1	١	No Bid	\$1,090.00	\$1,235.00
	Reference:	Wenger Select Lab Workstation or Equal					
	Color:	Black					
	Music Stands						
5	Description:	Polymer Material, Slider Mechanism for Adjustable Height, Wobble Free Base, Recessed Desk Area for Pencils	12	١	No Bid	\$53.00	\$804.00
		Wenger Classic 50 0398600 or Equal					
	Color:						
		nal Assembly					
6	Description:		1	1	No Bid	\$980.00	\$1,085.00
		Wenger 167D001		·		722000	7-,:35:00
	Color:						
	Footnotes M	. <u> </u>					
7	Description:		1	ľ	No Bid	\$545.00	\$555.00
-		Wenger 180B001		·	No Bid	, , , , , ,	*************
	Color:	Grey r Picors have 10 Year Warranty versus 3 V					

Note: Wenger Choir Risers have 10 Year Warranty versus 3 Years

	Section 6: Library Furniture				cial Concepts &	J.F	R. Inc.		nore Learning Materials		exas School niture
Item No.		Description	Est. Qty	Unit Price	Total Ext. with Installation	Unit Price	Total Ext. with Installation	Unit Price	Total Ext. with Installation	Unit Price	Total Ext. with Installation
1	Double Face Shel Description:	Double Face Book Shelving: End panels, shelves, and intermediate uprights will be 1 1/8" thick, twelve ply plywood with "A" grade plain sliced oak veneer thermofused to each side. Cornice tops with lave 2 1/4" facia of 3/4" solid oak. Base will be 4" high and 1 1/8"solid oak constructed with dowels, screws, and slue blocks. Toos and bases will be attached to end panels and	32	No Bid	No Bid	\$613.20	\$19,622.40	No Bid	No Bid	\$620.00	\$19,840.00
	Color: Reading Tables	Solar Oak Reading Tables: Tops will be 1 1/8" thick, twelve plyw with high pressure laminate on top surface and backer on bottom surface. Aprons will be 3" wx3/4" thick, sol with 1" adjustable glides. Legs are attached to aprons lag bolts and heavy duty corner braces. Edges will be 1 solid oak, rounded bullnose edge.	sheet id oak using								
2	Reference:	Moser #3-L126BN or equal (36" x 60" Rectangular table - Regular ED)	8	No Bid	No Bid	\$471.56	\$3,772.48	No Bid	No Bid	\$370.00	\$2,960.00
		Moser #3-L126BN / ADA or equal (ADA height) - ADA Table Moser #3-L127MOD or equal (18" x 72" rectangular table)	2	No Bid No Bid	No Bid	\$471.56	\$471.56 \$707.26	No Bid No Bid	No Bid	\$375.00 \$390.00	\$375.00 \$780.00
		Solar Oak									
3	Single Face Shelv Description:	ing with Backs: Single Face Shelving with Backs: End panels, shelves, in mediate uprights will be 1 1/8" thick, twelve ply plywo with "A" grade plain sliced oak veneer thermofused to side. Cornice tops will have 2 1/4" facia of 3/4" solid oa Base will be 4" high and and 1 1/8" solid oak construct dowels, screws, and glue blocks. Tops and bases will be attached to end panels and uprights using lag bolts, he bolts, and washers. Shelves to be adjustable on KV star pin holes are not acceptable. Edges will be protected w 1/4" thick, solid oak wood with all exposed corners nes rounded. Backs will be 1/4" thick, oak plywood.	od each ik. ed with e x-head idards, vith								
		Moser #3-L027 / 033 or equal (72" x 36" x 12" single face starter) Moser #3-L028 / 033 or equal (72" 36" x 12" single	7	No Bid	No Bid	\$542.46	\$3,797.22	No Bid	No Bid	\$495.00	\$3,465.00
	0.6	face adder)	19	No Bid	No Bid	\$442.13	\$8,400.47	No Bid	No Bid	\$410.00	\$7,790.00
	Reference:	Moser #3-L028 / 033 / 099 or equal (Adder w/ magazine shelves)	2	No Bid	No Bid	\$511.10	\$1,022.20	No Bid	No Bid	\$550.00	\$1,100.00
	Color:	Moser #3-L028 / 033 / 100 or equal (Adder w/ newspaper rods) Solar Oak	1	No Bid	No Bid	\$678.15	\$678.15	No Bid	No Bid	\$450.00	\$450.00
4	Managerial Mid E Description: Reference:		1	\$249.85	\$249.85	\$188.68	\$188.68	No Bid	No Bid	\$278.00	\$278.00
5	Adult Rocking Ch Description: Reference:		1	\$782.93	\$782.93	\$312.96	\$312.96	No Bid	No Bid	\$425.00	\$425.00

Proposal Form RFP 029-2015

Furniture for New Elementary School

	Circulation Dock								1		
	Circulation Desk:	Tops will be 1 1/8" thick, 45 lb. particleboard with high									
		pressure laminate on top surface and backer sheet on									
		bottom surface. Cabinet portion of desk will be constru									
		with 13/16" thick ten ply plywood with "A" grade plain	sliced								
	Description:	oak veneer thermofused to each side. End panels with 1/8" thick twelve ply plywood core with "A" grade plain	n sliced								
		oak veneer thermofused to each side. Edges will be 1 1									
		thick solid oak bullnose edge.									
			1	No Bid	No Bid	\$576.10	\$576.10	No Bid	No Bid	\$522.00	\$522.00
		a. Moser #3-L316BN or equal (Book return unit)	-	110 010	140 510	Ç57 0.10	\$570.10	110 510	110 510	\$322.00	Ų322.00
		b. Moser #3-L317 or equal (Depressible book truck)	1	No Bid	No Bid	\$720.30	\$720.30	No Bid	No Bid	\$766.00	\$766.00
6			_	N- Did	N = D:d	¢040.20	\$849.20	N = D:J	N - D:-I	ć1 040 00	Ć1 040 00
		c. Moser #3-L323BN or equal (72" desk unit)	1	No Bid	No Bid	\$849.20	\$849.20	No Bid	No Bid	\$1,048.00	\$1,048.00
			1	No Bid	No Bid	\$802.10	\$802.10	No Bid	No Bid	\$964.00	\$964.00
	Reference:	d. Moser #3-L314BN or equal (Hinged door unit)									
		e. Moser #3-L334 or equal (Triangular closed Corner display)	2	No Bid	No Bid	\$490.20	\$980.40	No Bid	No Bid	\$499.00	\$998.00
		f. Moser #3-L313 or equal (Open shelving Unit free	_	N. D. I	N. Bil	¢626.00	6525.00	N. D. I	N. S. I	ćc02.00	
		standing)	1	No Bid	No Bid	\$636.80	\$636.80	No Bid	No Bid	\$683.00	\$683.00
		g. Moser #3-L333 or equal (Open corner unit) **	1	No Bid	No Bid	\$490.20	\$490.20	No Bid	No Bid	\$518.00	\$518.00
		Alternate to Item E					·				
		h. Moser #3-L318 or equal (36" x 26" x 29"h) Unit with	1	No Bid	No Bid	\$576.10	\$576.10	No Bid	No Bid	\$622.00	\$622.00
	C-1-	ADA height Solar Oak									
	Computer Tables										
		Dimensions to be 30"x60"x29". Tops will be 1 1/8"									
		thick, twelve plywood with pressure laminate on top									
1_		surface and backer sheet on bottom surface. Legs will be 1 1/8" thick oak plywood panels with adjustable									
7		glides. Edges will be solid oak rounded bullnose.		No Bid	No Bid			No Bid	No Bid		
		Must include (2) 2" wire grommet holes and wire									
		access in hinged access door. Moser #C-113BN or Equal	2			\$598.67	\$1,197.34			\$1,192.00	\$2,384.00
	Reference:	Moser #C112BN-H or equal (30"x36" ADA height)	1			\$471.60	\$471.60			\$1,192.00	\$1,192.00
		Solar Oak									
	Student Chairs	Solid oak wood construction. Straight back, 4 leg									
8	Description:	design. Plywood construction not acceptable. Height	60	\$143.89	će caa 40	\$136.14	¢0.460.40	\$161.49	¢0.600.40	\$160.00	ć0 c00 00
8		to be 18".	60	\$143.89	\$8,633.40	\$130.14	\$8,168.40	\$161.49	\$9,689.40	\$160.00	\$9,600.00
		Jasper #83-18 or Equal Solar Oak									
Н	Task Chairs										
9	Description:	Pneumatic, back height, seat depth, swivel. Molded	2	\$117.69	\$235.38	\$87.38	\$174.76	No Bid	No Bid	\$131.00	\$262.00
	Reference:	polymer outer back. To include soft caster. Hon #H5901 or Equal									
		Blue Grade III Fabric									
	Book Trucks										
10	Description:	Buffalo Book Truck Six Sloping shelves 18"dx36"wx43"h	3	No Bid	No Bid	\$299.53	\$898.59	No Bid	No Bid	\$660.00	\$1,980.00
	Reference:	Smith System #21001 or Equal	٦	. 10 510		, 255.55	, JJ0.JJ	510		, 300.00	,555.00
		Smoke or Charcoal (provide picture for both)									
	File Drawer Base										
		Dimensions to be 36"wx39"hx23"d with three									
		drawers. Base cabinet will have 1 1/8" thick top with									
11	Description:	4" high back splash exposed surfaces will be covered		N- Did	N - D:-	¢640.60	¢649.60	N = D:J	N - D:-I	\$1,046.00	ć1 04C 00
11		with high pressure laminate. Base cabinet top rails, bottom, and shelves will be 1 1/8" thick 45lb industrial	1	No Bid	No Bid	\$648.60	\$648.60	No Bid	No Bid	\$1,046.00	\$1,046.00
		grade particleboard with high pressure laminate.									
		Backs will be 1/2" thick material.									
		Moser#3-L412M or Equal Solar Oak									
	Open Base Cabine										
		Dimensions to be 18"wx36"hx22"d. Base cabinet top									
12	Description:	rails, bottom, and shelves will be 1 1/8" thick twelve plywood core with "A" grade sliced oak veneer. Sides	1	No Bid	No Bid	\$340.96	\$340.96	No Bid	No Bid	\$456.00	\$456.00
		will be 3/4" thick matching material. Base cabinet will									
	6.7	have 1 1/8" thick top and 4" high backsplash.									
		Moser #3-L389 or Equal Solar Oak									
1	Color:										
\vdash	Reading Corner U	nit									
\vdash	Reading Corner U	nit All wood construction; three tier riser.									
13	Reading Corner U Description:	nit All wood construction; three tier riser. Dimensions:36"H	1	No Bid	No Bid	\$4,573.60	\$4,573.60	No Bid	No Bid	\$6,940.00	\$6,960.00
13	Reading Corner U Description: Reference:	nit All wood construction; three tier riser.	1	No Bid	No Bid	\$4,573.60	\$4,573.60	No Bid	No Bid	\$6,940.00	\$6,960.00

	Sed	ction 7: Workroom Furniture		JF	R. Inc	S	th Texas chool rniture
Item No.		Description	Est. Qty	Unit Price	Total Extension Price with Installation	Unit Price	Total Extension Price with Installation
	Workroom-Media						
	Description:	Media Shelving Steel Frame Starter 72" - Smith System #22733 or Equal	1	\$211.96	\$211.96		
1		Steel Frame Adder 72" - Smith System #22744 or Equal	1	\$452.50	\$452.50		1,100.00
1	Reference:	Single Faced End Panel 72" - Smith System #23652 or Equal	2	\$173.50	\$347.00		1,100.00
		With End Unit Top Panel 36" Smith System #23415 or Equal	2	\$108.94	\$217.88		
	Color:	Media Bag Shelf - Smith System #23966 or Equal Solar Oak /Metal	4	\$61.06	\$244.24		

Secti	on 8: Multi-Purpose Room Furniture			cial Concepts rnishings	J	R. Inc	South Texas School Furniture		
Item No.	Description	Est. Qty	Unit Price	Total Extension Price with Installation	Unit Price	Total Extension Price with Installation	Unit Price	Total Extension Price with Installation	
1	Nesting Tables Description: Rectangular Nesting tables with casters Reference: HON Motivate Series HMVR-2460G-NS Color: Mahogany	15	\$510.27	\$7,654.05	\$392.83	\$5,892.45	\$580.00	\$8,700.00	
2	Nesting Chairs Description: Upholstered Nesting Chairs with Casters Reference: HON Motivate Series HMN2 Color: Blue	30	\$221.43	\$6,642.90	\$193.70	\$5,811.00	\$580.00	\$17,400.00	